Name: __________________________

Hubble’s Law





Pat the Police Officer is driving down the road.  On the radar gun, Pat measures the speeds shown in the table (these are speeds RELATIVE TO PAT, not relative to the road).  Use the information given here and in the drawing to fill out the left half of the table.
Ben the Bad Driver also has a radar gun.  Figure out what speeds he would measure in the above situation and try to fill out the rest of the table.  (Ben’s measurement of Claire’s speed might be difficult to figure out, but if you can’t figure it out exactly, try to estimate it from the drawing.)
	Person
	Speed (measured by Pat)
	Distance (from Pat)
	Time       (since passed by Pat)
	Speed (measured by Ben)
	Distance (from Ben)
	Time      (since passed by Ben)

	Pat the Police Officer
	--
	--
	--
	
	
	

	Sam the Slow Driver
	10 mph
	1 mile
	6 minutes
	
	
	

	Ben the Bad Driver
	15 mph
	
	
	---
	---
	---

	Henry the Horrible Driver
	50 mph
	
	
	
	
	

	Claire the Crazy Driver
	17.3 mph
	
	
	
	
	


What assumptions did you have to make in order to calculate the times since the cars passed each other?

Assuming these assumptions were correct, what was happening with the cars around 6 minutes ago?
If the above situation is an analogy for Hubble’s measurements of galaxies, which car corresponds to our galaxy?  Explain.








































































SCALE:


1 inch = 1 mile
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Bad Driver





Henry the


Horrible Driver





Claire the Crazy Driver (driving off-road)





Sam the Slow Driver
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